			





Confidence interval for the ratio of population variances 
Actuaries use various parameters when evaluating the cost of a life insurance policy. The variance of the life spans of a population is one of the parameters used for the evaluation. Each year, the actuaries at a particular insurance company randomly sample 25 people who died during the year (with the samples chosen independently from year to year) to see whether the variance of life spans has changed. The life span data from this year and from last year are summarized below: 
	Current Year
	Last Year
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(The first row gives the sample means, and the second row gives the sample variances.) 
Assuming that life spans are approximately normally distributed for each of the populations of people who died this year and people who died last year, construct a [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%3A3%26]confidence interval for [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%3Fal%7B%3D%25ps8%25pjdnb8%3Fpva%3D2%3F%2Cpva%3D%3Fpvs%3D1%3F%2Cpvs%3D%25ps8%09%3Flufq%3D%25ps8%25pjdnb8%3Fpva%3D1%3F%2Cpva%3D%3Fpvs%3D1%3F%2Cpvs%3D%25ps8%3F%2Cal%7B%3D], the ratio of the variance of the life span for the current year to the variance of the life span for last year. Then complete the table below. 
Carry your intermediate computations to at least three decimal places. Write your final responses to at least two decimal places.



1. What is the lower limit of the 90% confidence interval?
2. What is the upper limit of the 90% confidence interval?
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